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N: No Output Linearization (OL) data in File (F), Startup (S) or Device (D), Page 1/1
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Interpretation rgb > olv* and CIELAB data of a 48 step device hue circle
for a LECD low glossy display with the luminance reflectiort =0%

48 step device hue circle with six device huesrl V!
‘comparison with four elementary huesRICB: N
9 step equidistant grey scalet* = 0.0, 11.9, 23.9, 35.8, 47.7, 59.6, 716, 835,

10:

compared to the white reference (100%)
M: Ngy e = 46.0, 101.2, 131.0, 196.6, 306.1, 326.8
255,923, 162.2, 271.7, and /' = 217.0,328.6

,95.4

Interpretation rgb > olv* and CIELAB data of a 48 step device hue circle
for a LECD low glossy display with the luminance reflectiorl.=1,296 cor

48 step device hue circle with six device hUEL CVM: hyy o = 41.1, 101
‘comparison with four elementary huesRIGB: h 4= 25,5, 92.3, 162.2, 2717, and M
9 step equidistant grey scalet* =10.4, 21.0, 31.7, 42.3, 52.9, 635, 74.2, 848, 95.4

mpared to the white reference (100%)
5, 1318, 196.7, 305.0, 326.7
d ' =217.0,328.6

A2 1gb > olviga Py 100*wa AvR2 1gb > olvi G Mg ODwa A2 1gb > ohviga Gva Mg Gwa AvR2 1gb > oV

00y=0 300 10 00 054 046 100000000000 210000 10 0628 0978 0.022 000010001, 00y=0 300 10 0234 00 0.126 0.874 10000.0000.000 cO0V=C 210.0 0.0 10 0629 0.97 003 (0,000 1000 1000|
o2y 366 10 0337 00 0304 0696 100001250000 216600 076 10 0078 0.522 00000875 1000) 366 10 026600 0857 0.143 100001250000 c12v 2166 00 0755 10 0,051 0,043 0.0000.875 1.000|
025 439 10 0412 00 0706 0284 100002500000 2239 00 0323 10 0583 0417 0.0000.750 1000 439 10 0357 00 0143 0857 100002500000 c25v 2239 00 032 10 0561 0.439 0.0000.750 100o|
oy SL8 10 050100 0365 0035 1GWOISO00 Ty 231800 001 10013 087 D0000SIS AN $18 10 045500 076 0724 LONOITSONO v 318 00 0019 100152 0867 000008331
050y 600 10 061500 008 092 100005000000 C50v 2400 018700 10 0528 0. 0500 1.0b0) 600 10 050 00 0283 0717 100005000000 c5ov 0018100 10 0550 0500 1.0b0)
062y 682 10 073100 0152 0848 100006250000 c62v 2482 034200 10 0266 0734 0.0000375 1000 682 10 0717 00 0266 0.73 100006250000 c62v 2482 033500 10 0.323 0.677 0.0000.375 1.000|
75y 761 10 0857 00 014 085 100007500000 75 2561 0.46700 10 026 074 000002501000) 761 10 085200 0185 0512 100007500000 c75v 2561 045600 10 0352 0,648 0.0000.250 1.000)
o087y 834 10 0987 00 0105 0895 1 B7v 2634056600 10 0.469 0531 0.0000.1251.000) 834 10 0985 00 0095 0902 B7v 2634055 00 10 0603 0397 0.0000.1251000|
YO0=Y 900 087310 00 0981 0019 L00D10000.000 v0Om=V 2700 060500 10 06 084 0.0000.0001000| 900 086810 00 0946 0.054 100010000.000 VOOM=V 2700 058600 10 0316 0.684 0,0000.000 100O|
yi2l 956 075810 00 0065 0935 087510000000 vi2m 2766 061500 10 0083 0917 012500001000 96 075110 00 0006 0994 087510000000 vI2m 2766 059600 10 0229 071 0.1250.0001000
y25 1039 067910 00 0433 0.567 075010000000 v25m 2639 0.63700 10 0903 0.097 0.2500.0001.000] 1039 067 10 00 0362 0638 0.75010000.000 v25m 2839 0.62200 10 0027 0973 0.2500.000 1000
V37 1118 061410 00 0908 0.091 062510000000 v37m 2918 066600 10 067 033 03750000 1000) 1118 060410 00 083 017 062510000000 vi7m 2918 065300 L0 0772 0228 0.3750.000 1000
Y50 1200 056110 00 049 051 050010000000 vsOm 3000 0.70400 10 037 063 05000000 1000) 1200 055110 00 0405 0595 050010000000 vSOm 3000 0.69400 10 045 055 0.5000.0001000)
V62 1282 051710 00 0136 0864 037510000000 v62m 3082 0.74900 10 0,006 0994 062500001000 1282 050610 00 0048 0.952 037510000000 vE2m 3082 0.74200 10 0068 0932 0.6250.0001000
V75 1361048410 00 08710120 025010000000 v75m 3161 080500 10 0558 0.442 0.7500.0001.000] 1361047310 00 0782 0218 025010000000 v75m 3161 08 00 10 0,603 0.397 0.7500.000 1000)
VBT 1434 045710 00 0652 0348 012510000000 vE7m 3234 087100 10 0029 0971 0.8750.0001000] 1434 044510 00 0562 0.438 012510000000 ve7m 3234 0.86800 10 0059 0941 0.750.0001000
100c-L 1500 0.44610 00 0569 0431 000010000000 mODo=M 330.0 096900 10 _ 0249 0751 1. 0140 1500 043510 00 0479 0521 000010000000 as01on_so oz o1 110000001 g
l2c 1566 0.41310 00 0305 0695 0.00010000.25 miZs 3365 10 00 085 084 016 100000000475 1566 040510 00 0237 0763 0.00010000.125 T0 00 085 0542 0.155 100000000,
125 1639 034510 00 0764 023 000010000250 m250 3439 10 00 0737 0,899 0.101 1000000007 1639 034110 00 0726 0274 0.00010000.250 10 00 0737 0894 0.105 10000.0000.7:
187c 1718027810 00 0228 0772 000010000375 m370 3518 10 00 0612 0899 0.101 100000000628 1718 027610 00 0206 0.794 000010000375 10 00 0612 0892 0.108 100000000625
1s0c 1800 020510 00 0643 0357 000010000500 m500 360.0 10 00 0467 0.738 0.262 100000000509 1800 020410 00 0633 0367 000010000500 10 00 0467 0737 0.263 100000000500
e 52012410 00 09910009 0.00010000.625 mé2o 3682 10 00 029 0322 0.678 100000000375 1882 012410 00 0988 0.012 0.00010000.625 10 00 0294 0348 0.652 10000.0000375
I75c 1951 002510 00 0209 0791 000010000750 m750 3761 10 00 0085 0678 0.322 0.0000. 1961 002610 00 021 079 000010000750 m7So 3761 10 00 0097 0776 0224 10000.0000.
B7c 2034 00 10 014 088 01z 000010000875 mlo 3834 10 0154 0.0 _ 0.766 0.234 100000000, [B7c 2034 00 10 014 0882 0.118 0.00010000.675 m7o 3834 10 012 00 0036 0964 1.0000.0000.

KEB60-3N. 1 KEG61-3N. 1

Interpretation rgb —> olv* and CIELAB data of a 48 step device hue circle
for a LECD low glossy display with the luminance reflectior.
48 step device hue circle with six device hues|
‘comparison with four elementary huesRICB:

6% compared to the white reference (100%)
VM: hyp o= 43.3, 101.4, 131.4, 196.6, 305.6, 326.8

= 25.5,92.3, 162.2, 271.7, and M’

50,163,276, 389,502, 61.5, 728, 84.1,95.4

9 step equidistant grey scalet*
b 190" AAZ 19b > ohviga P 100*wa a2 1gb > 0Viga

00y=0 300 10 0266 00 087 013 100000000000 100 00 10 0628 0974 0.026 000010001,
o1y 366 10 029700 062 038 100001250000 2166 00 0756 10 0063 0837 0.0000.875 1000
025 439 10 038100 0955 0045 100002500000 223900 0321 10 0571 0429 0.0000.750 1.000)
037y 518 10 048300 0136 0864 100003750000 00 0019 10 0152 0843 000006251000
050y 600 10 060100 0189 0811 10000.5000.00( T18200 10 0541 0459 000005001600
062y 682 10 072300 0212 0788 100006250000 033800 10 0294 0706 0.0000.375 1000
o7y 761 10 085400 0167 0833 100007500000 046200 10 0307 0693 0.0000.250 1000
87y 834 10 0987 00 0102 0898 1 c 055800 10 0538 0462 000001251000
Y00=Y 900 087 10 00 0963 0037 100010000000 VOOM=V 2700 059500 10 024 076 00000000 1000|
V12l 966 075410 00 0035 0.965 087510000000 vi2m 2766 060500 10 0158 0842 0.12500001.000]
y25 1029 067510 00 0397 0.603 075010000000 v25m 2639 0.62900 10 0966 0.034 0.2500.000 1.000]
Y37 1118 060310 00 0868 0132 062510000000 vi7m 2918 066 00 10 0722 0278 03750000 1000|
y50 1200 05510 00 0446 0554 050010000000 vSOm 3000 069900 10 041 059 05000.000 10¢
V62 1282 051110 00 0091 0.909 037510000000 v62m 3082 0.74500 10 0037 0963 0.6250.0001.000]
V75 1361047810 00 0825 0175 025010000000 v75m 3161 080200 10 0581 0.419 0.7500.0001.000]
V87 1434 045110 00 0606 0394 012510000000 vg7m 3234 086300 10 0044 0956 0.87500001.000]
100c=L 1500 0.44 10 00 0523 0.477 0.00010000.000 m0Vo=M 330.0 0.96800 10 0257 0743 a5
l2c 1566 040910 00 027 073 000010000.125 miZs 3366 10 00 085 054 015 100000000.
125 1639 034310 00 0745 0255 000010000250 m250 3439 10 00 0737 0,89 0.104 1000000007
187c 1718027710 00 0217 0783 000010000375 m370 3518 10 00 0612 0:896 0.104 100000000628
1s0c 1800 020510 00 0638 0362 0.00010000500 mS0o 3600 10 00 0467 0.738 0.262 100000000500
le2 1852012410 00 099 001 000010000625 me2o 3682 10 00 0292 0.336 0.664 100000000378
I75c 191 002510 00 0209 0791 000010000750 m7S0 3761 10 o001 072 07 1omooumozed
[B7c 2034 00 10 014 0881 0119 0.00010000.675 melo 3834 10 0.36 0.0 0913 0.087 100000000,

3286

Interpretation rgb —> olv* and CIELAB data of a 48 step device hue circle
for a LECD low glossy display with the luminance reflectior.

48 step device hue circle with six device hUEY (VM hy, ;= 38.2, 1018, 132.5, 196.7, 304.1, 326.6
‘comparison with four elementary huesRICB: haya= 25,5, 92.3, 162.2, 271.7, and M’ = 217.0, 328.6
9 step equidistant grey scalet* = 17.7, 27.4, 37.1, 46 8, 56.5, 66.3, 76.0, 85.7, 95.4
Gia Ny 10w A 190 -> ol Gia gy 1O0wa AuA2 9> Oiviga
000y=0 300 10 019 00 0.478 0522 10000.0000.000 cOv=C 2100 00 10 063 0963 0.037_0.0001.000 1.0¢
ol2y 366 10 022600 01910809 100001250000 civ 2166 00 0753 10 0026 0.674 00000675 1000)
o025 439 10 032100 0428 0572 100002500000 c25 2239 00 0318 10 0543 0.457 00000.7501000)
037y 518 10 0437 00 05010499 100003750000 c37v__ 2318 00 0019 10 0155 0.845 00000625 1.000)
050y 600 10 057 00 044 056 100005000000 COv 2400 017800 10 058 042 00000001
62y 682 10 070500 035 05641 100006250000 cB2v 2482 032800 10 0376 0.624 00000375 1000)
75y 761 10 0847 00 02250775 100007500000 c75v 2561 044500 10 0437 0563 00000250 1000)
87y 834 10 098800 00320908 1 87v 2634 053500 10 0722 0278 0.0000.1251000]
00 0913 0087 100010000,000 vOOM=V 270.0 056800 10 0453 0547 00000000 1000)
96 074410 00 0954 0,046 087510000000 vian 2766 058 00 10 0358 0642 0.1250,000 1.000]
1039 066210 00 0298 0702 075010000000 v25m 2839 0.60800 10 0138 0862 02500000 1000)
1118 059510 00 0750 0241 062510000000 va7m 2918 064200 10 0866 0134 03750000 1000)
1200 054110 00 0331 0669 050010000000 vSOm 3000 068400 10 0526 0474 05000000 1000)
1282 049610 00 0972 0028 037510000000 v62m 3082 0.73400 10 0127 0873 0.6250.0001000)
1361 046310 00 0704 0296 025010000000 v75m 3161 0.79400 10 0,645 0354 0.7500.0001000)
Y87l 1434 04310 00 0485 0515 012510000000 v7m 3234 086400 10 0083 0.912 08750000 1000)
100c=L 1500 0.42510 00  0.402 0568 0.0001.0000.000 m000=M 3300 0.9650.0 327 0121 Looo 00004
l2c 1566 039710 00 0177 0823 000010000125 miZo 3366 10 00 085 0644 0156 100000000
25 1639 03310 00 0691 0309 000010000250 m25 3439 10 00 0736 0838 0.112 1000000007
1B7c 1718027310 00 0186 0814 000010000375 m37o 3518 10 00 0611 0884 0,116 100000000625
I 1800 020310 00 0623 0377 0.00010000500 m500 3600 10 00 0467 0.735 0265 1.0000.0000.500]
le2c 1882 012310 00 0985 0015 000010000625 m62o 3632 10 00 029 0371 0623 100000000375
751961 002610 00 0211 0789 0.00010000750 m75 3761 10 00 _0.107 0.858 0142 10000.0000.

2
[67c 2054 00 10 0139 088 0115 000010000875 mb7o  363.4 10 0095 00

5% compared to the white reference (100%)

0237 0.763 100000000,

KEBG0-7N. 1

KEGG1-7N. 1
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REG60-7N

TUB-test chart KE86; 48 step LECD device hue circle

input: rgb->olv* setrgbcolor

Interpretatiorrgb —> olv* andrgb* data of colours Ma
< T v

output:no ch{a_nge compared to input
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